IP Address and Subnet Mask Example.doc

How a computer uses the IP address and the subnet mask to determine the network address and the host address.

1) The IP address contains both the network address and the host address

2) The subnet mask is used like a knife guide, so the computer knows where to cut the IP address into two pieces.

AND the IP address and the subnet mask (default subnet mask, 255.255.255.0)
11000000.10101000.01101000.00001110
11111111.11111111.11111111.00000000
11000000.10101000.01101000.00000000

192.168.104.0 = Network address

Now, invert the subnet mask. AND the IP address and the inverted subnet mask

11000000.10101000.01101000.00001110
00000000.00000000.00000000.11111111

00000000.00000000.00000000.00001110
0.0.0.14 = Host Address
* * * * *

Let's do it again with a custom subnet mask.

11000000.10101000.01101000.00001110
11111111.11111111.11111111.11111000
11000000.10101000.01101000.00001000

192.168.104.8 = Sub-Network address

Again, we invert the subnet mask to identify the Host address. Note that,

because it is a custom subnet mask, one octet contains both network and host bits.

11000000.10101000.01101000.00001110
00000000.00000000.00000000.00000111
00000000.00000000.00000000.00000110
0.0.0.6 = Host address

Next Sub-Network address  = 192.168.104.16

11000000.10101000.01101000.00010110
11111111.11111111.11111111.11111000
11000000.10101000.01101000.00010000

192.168.104.22 = IP address

192.168.104.16 = Sub-Network address

0.0.0.6 = Host address

Next Sub-Network address  = 192.168.104.24

11000000.10101000.01101000.00011110
11111111.11111111.11111111.11111000
11000000.10101000.01101000.00011000

192.168.104.30 = IP address

192.168.104.24 = Sub-Network address

0.0.0.6 = Host address
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